

$$P_1: z = 2x^3 + y^3 + 3x^2 - 3y - 12x + 1$$

du. 1. raider:

$$z'_x = 6x^2 + 6x - 12 \rightarrow 6x^2 + 6x - 12 = 0 \quad | :6$$

$$z'_y = 3y^2 - 3 \rightarrow 3y^2 - 3 = 0 \quad | :3$$

$$x^2 + x - 2 = 0$$

$$(x+2)(x-1) = 0$$

$$x_1 = -2; x_2 = 1$$

$$y^2 - 1 = 0$$

$$y^2 = 1 \quad | \sqrt{\phantom{x}}$$

$$|y| = 1 \quad y_1 = 1$$

$$y = \pm 1 \quad y_2 = -1$$

$$|y| = 1$$

du. 2. raider:

$$z''_{xx} = 12x + 6$$

$$z''_{xy} = 0$$

$$z''_{yx} = 0$$

$$z''_{yy} = 6y$$

$$A[1;1] \quad B[1;-1] \quad C[-2;1] \quad D[-2;-1]$$

$$18 > 0$$

$$0$$

$$0$$

$$6$$

$$18$$

$$0$$

$$0$$

$$-6$$

$$-18$$

$$0$$

$$0$$

$$6$$

$$-18 < 0$$

$$0$$

$$0$$

$$-6$$

$$A: \Delta_2(A) = \begin{vmatrix} 18 & 0 \\ 0 & 6 \end{vmatrix} = 18 \cdot 6 - 0 > 0$$

HAHA' EXTREM

A ma' lok. minimum

$$B: \Delta_2(B) = \begin{vmatrix} 18 & 0 \\ 0 & -6 \end{vmatrix} = 18 \cdot (-6) - 0 < 0$$

B je saddlej' bod

$$C: \Delta_2(C) = \begin{vmatrix} -18 & 0 \\ 0 & 6 \end{vmatrix} = (-18) \cdot 6 - 0 < 0$$

C je saddlej' bod

$$D: \Delta_2(D) = \begin{vmatrix} -18 & 0 \\ 0 & -6 \end{vmatrix} = (-18) \cdot (-6) - 0 > 0$$

DHA' EXTREM

D ma' lok. max.

$$P_2: z = y^3 + 3x^2y - 18x - 30y + 4 \quad x, y \in \mathbb{R}$$

du. 1. raider:

$$z'_x = 6xy - 18 \rightarrow 6xy - 18 = 0 \quad | :6$$

$$z'_y = 3y^2 + 3x^2 - 30 \rightarrow 3y^2 + 3x^2 - 30 = 0 \quad | :3$$

$$xy - 3 = 0 \rightarrow x = \frac{3}{y}$$

$$y^2 + x^2 - 10 = 0$$

$$y^2 + \left(\frac{3}{y}\right)^2 - 10 = 0$$

$$y^2 + \frac{9}{y^2} - 10 = 0$$

$$y^4 - 10y^2 + 9 = 0$$

substitucija:

$$t = y^2$$

$$t^2 - 10t + 9 = 0$$

$$(t-9)(t-1) = 0$$

$$t_1 = 9 \quad t_2 = 1$$

$$y = y^2 / \sqrt{\phantom{x}} \quad 1 = y^2 / \sqrt{\phantom{x}}$$

$$3 = |y| \quad 1 = |y|$$

$$\pm 3 = y \quad \pm 1 = y$$

$$y_1 = 3 \quad y_2 = 1$$

$$y_2 = -3 \quad y_4 = -1$$

$$z''_{xx} = 6y$$

$$z''_{xy} = 6x$$

$$z''_{yx} = 6x$$

$$z''_{yy} = 6y$$

$$A[3;1] \quad B[-3;-1] \quad C[1;3] \quad D[-1;-3]$$

$$18 > 0$$

$$-18$$

$$6$$

$$6$$

$$-18$$

$$-6$$

$$-6$$

$$-18$$

$$-18 < 0$$

$$-6$$

$$-6$$

$$-18$$

$$A: \Delta_2(A) = \begin{vmatrix} 6 & 18 \\ 18 & 6 \end{vmatrix} = 6^2 - 18^2 < 0$$

A ma' saddlej' bod

$$B: \Delta_2(B) = \begin{vmatrix} -6 & -18 \\ -18 & -6 \end{vmatrix} = (-6)^2 - (-18)^2 < 0$$

B ma' saddlej' bod

$$C: \Delta_2(C) = \begin{vmatrix} 18 & 6 \\ 6 & 18 \end{vmatrix} = 18^2 - 6^2 > 0$$

C ma' lok. minimum

C ma' lok. minimum

$$D: \Delta_2(D) = \begin{vmatrix} -18 & -6 \\ -6 & -18 \end{vmatrix} = (-18)^2 - (-6)^2 > 0$$

D ma' lok. maximum

D ma' lok. maximum

$$P_3: z = 3x^2 - 2x\sqrt{y} + y - 8x + 2$$

du. 1. raider:

$$z'_x = 6x - 2\sqrt{y} - 8 \rightarrow 6x - 2\sqrt{y} - 8 = 0$$

$$z'_y = -\frac{x}{\sqrt{y}} + 1 \rightarrow -\frac{x}{\sqrt{y}} + 1 = 0 \rightarrow x = \sqrt{y}$$

$$6x - 2x - 8 = 0$$

$$4x - 8 = 0$$

$$x = 2$$

du. 2. raider:

$$z''_{xx} = 6$$

$$z''_{xy} = -\frac{1}{\sqrt{y}}$$

$$z''_{yx} = -\frac{1}{\sqrt{y}}$$

$$z''_{yy} = \frac{x}{2\sqrt{y}^3}$$

$$A[2;4] \quad B[2;-4]$$

$$6 > 0$$

$$-\frac{1}{2}$$

$$-\frac{1}{2}$$

$$\frac{1}{8}$$

$$\Delta_2(A) = \begin{vmatrix} 6 & -\frac{1}{2} \\ -\frac{1}{2} & \frac{1}{8} \end{vmatrix} = \frac{3}{4} - \frac{1}{4} > 0$$

A ma' lok. minimum

A ma' lok. minimum

$$P_4: z = xy + \ln x + y^2 + 3$$

$$z'_x = y + \frac{1}{x} \rightarrow y + \frac{1}{x} = 0$$

$$z'_y = x + 2y \rightarrow x + 2y = 0 \rightarrow x = -2y$$

$$y - \frac{1}{2y} = 0 \quad | \cdot 2y$$

$$2y^2 - 1 = 0$$

$$y^2 = \frac{1}{2} \quad | \sqrt{\phantom{x}}$$

$$|y| = \frac{1}{\sqrt{2}} \rightarrow y_1 = \frac{1}{\sqrt{2}} \quad y_2 = -\frac{1}{\sqrt{2}}$$

du. 2. raider:

$$z''_{xx} = -\frac{1}{x^2}$$

$$z''_{xy} = 1$$

$$z''_{yx} = 1$$

$$z''_{yy} = 2$$

$$A[-\frac{1}{2}; \frac{1}{2}] \quad B[\frac{1}{2}; -\frac{1}{2}]$$

$$-\frac{1}{2}$$

$$1$$

$$1$$

$$2$$

$$-\frac{1}{2}$$

$$1$$

$$1$$

$$2$$

$$\Delta_2(A) = \Delta_2(B) = \begin{vmatrix} -\frac{1}{2} & 1 \\ 1 & 2 \end{vmatrix} = -1 - 1 < 0$$

NEHA' EXTREM

A i B ma' saddlej' bod

VIAZANE' EXTREMUM  $\rightarrow f(x,y)$

$$P_5: z = x^2 + y^2 - 4x + 4y + 8$$

$$g(x,y) = 0$$

$$x + y - 3 = 0$$

$$y = 3 - x \rightarrow y = 3 - \frac{x}{2} = -\frac{1}{2}$$

$$z = x^2 + (3-x)^2 - 4x + 4(3-x) + 8$$

$$SB: A[\frac{x}{2}; -\frac{1}{2}]$$

$$z = x^2 + 9 - 6x + x^2 - 4x + 12 - 4x + 8$$

$$z = 2x^2 - 14x + 29$$

$$z' = 4x - 14 \rightarrow 4x - 14 = 0$$

$$x = \frac{14}{4} = 3.5$$

$$z'' = 4 > 0 \quad \checkmark$$

A ma' max. lok. min.

minimum

$$P_6: z = x^4 + 2y^2 + 4xy + 3 \quad \text{as } x + y = 0$$

$$x = -y$$

$$z = x^4 + 2x^2 - 4x^2 + 3$$

$$z' = 4x^3 - 4x = 4x(x^2 - 1)$$

$$x_1 = 0 \quad x_2 = 1 \quad x_3 = -1$$

$$SB: A[0;0] \quad B[1;-1] \quad C[-1;1]$$

$$z'' = 12x^2 - 4$$

$$-4 < 0 \quad 8 > 0 \quad 8 > 0$$

A ma' max. lok. max.

B ma' max. lok. min.

C ma' max. lok. min.